stress test

2.

[H13 2, Sh5 ]

c c

@(a+b)+c:%c @(a+b)xc:%
ey @

@(IT(bTC)—C

@a%(bXC):%

@(a+b)+c:£

@(a+b)xc:%

@a%(b+c):%

—z(2x — 6) + (z — 2)(—3z) & IFAo] T Ao A 22
N ASE a, 9 AFE b2l & W], a + 0] 27

M1 2, Sh5 )

©)

@ -17

@ -7 ® 17

® 0

FA) = —222 + 62 — 322 + 62 = —5x% + 122
a+b=—5+12=7

3.

YA 7429 Fol7} 20 A AAZEE Wolrt 4a?
2% % o), AZ2] Pol?

4a’-2a’b
W 2, S1% |
@ a®—a @ 2a®+a ® 2a2-b
®)2a2 — ab ® 2a®+ab

2a x (M22] 4do]) = 4a® — 2ab

L (A=) o)) = 202
- 4a3 a—2a2b
T 2 2a
=20 —ab

r=2,y=-3<9 1, 245y — (3y — 3z) & AL}
H? M4 2, st% |
-8 ©@-4 O1 @ 2 )4

(BA) =5 +2y=5%x2+2x(=3)=4




5. wtxyrxabxys =219 Lo a+0b 9 G ot

7. o™ A A9 28 —2a+0b 2] 3 8IS WYH 20+ 5b
o2}, (813 3, M)

7} e ol o, of® 4 A & TohE?
[Bh4 3, SH ]

> =

> M9 ®2-16 @2+ @ da-2

@ —4a+2b ® 4a+2b

B
(FA) =t xyot? B

= z'0%3 2A — 3(—2a + b) = 2a + 5b

44b=10, b=6 2A + 6a — 3b = 2a + 5b
a+5=8,a=3

2A = —4a +8b
6. 25%12 = 57738 WESHE 4 0] ghe Fsloiat, 8. 3 = ere] =
(7 3, 5H4] 522z —4y) — Sa(x —y) & o] SH?
Qo
(i 3, 5H

> £

> 3e: _; @_2552 -y @ —22% — 1lzy

® 82? + llzy @ 822 —wy

,_% ® 2%+ a2y

(52)2x+2 — 54:z:+4 o]_]:l_i

dr+4=2x—-3, 3z =—7

. B

|
===

3 ga:(%c —4y) — 5x(x —y)

= 322 — 6xy — 522 + bxy

=222 —xy




9. olm hahAolA 2 + 5y S Molok A% BRG] | 11. 01§ % §2 AL o1 3, 3o ]
SR 62+ 297 T of W, HhA AT 7

® 8r+4y @ —dz+6y @ —2z+6y
_ _9\3 _ (_9\3
@)Qx—Sy ® 8z +2y @ (=2) x (=2)° = (-2)

’_% . ® (-3)2x(-3) =32
of® A2 Aet sk
A+ (2z + 5y) = 62 + 2y ’_m
A= (6z +2y) — (22 + by) = 4z — 3y D (=1)2 x (=1)* = (=1)>t% = (~1)6
utebA Bt2A] A4S (42 - 3y) — (22 + 5y) = @ 32x33=32t3 =35

2z — 8y ©| .
X Y 1= © (—2) x (_2)3 _ (_2)1+3 _ (_2)4
® (-3)2 x (=3) =32+ =33
10. o= F &2 A&7 [B1d 3, 53}

12. by 8
@ 4x(-2)* =32 (xSya> y16 o o, b—a 9 gh= Fokeiet
@ (-2)? x (-2)* =-16 Ml 3, &35t
@)(-2) x (-8) = -32 > o
@ 9x 3 =3 > & 1

’_% by? E 2\8
@ 4x(~2)3=4x(-8) =32 <w5y“) _<F>
@ (-2)? x (-2 =(-2)* =16 P oz
® (=2)2 x (=8) = 4 x (=8) = —32 By = P
@®9x32=32x32=3* ==
® (=3) x (=3)? = (=3)4 = 34 - b=6
3—a=-2




13. o+ % AT} YA A% g2 Ae et

O q2+2+2 © a® x a?
© (a?)? x a? © a?xa®xa
® (a2)?
o3 3, 5]
> =
> HE: ©

@ 2+2+2 — o6
©a®xa®=a?"3=4d°

© (a®)? x a® = a* x a®> = a®
@ a® x a® x a = a?t3tt =qaf

® (a?)? = a®

f—t

[ 3,

—32%)2 = (—=3)226 = 96
(
(—223343;)3 _ (—22)3:1712;1/3 = 6421243

EA) 3v—2y—{x — (Ty — 62) + 5} = ar+by+c
A, a—b+c 9 F= Totofet

A 14, AR 10, 84 0 —10, S —14,
=12
i 3, F3t)
> g
> =g 345

B ~

3z —2y — {x — (Ty — 6z) + 5}

=3z —2y— (x — Ty + 6x + 5)
=3x—2y— (7o — Ty +5)
=3x—2y—Tr+Ty—>5

= dz+5y—5

O|BR g=—4, b=5, c=—5 °|th

mebA @ — b+ c= —4 — 5+ (=5) = —14 o]t}




16. A%
ar+by W, a+b 9 TS T

C} -
H =

>
>

0
|I-'1
J

,b ofl thote] 3z — 5y — {y —2(22 + 3y)} =
F-slodzt,
Ml 3, &5t

B

3z — by — {y — 2(2z + 3y)}
(y — 4z — 6y)
= 3z — by — (—4z — 5y)
=3z — 5y +4x + 5y

= 3x + 4z — by + Sy
=B+4)r+(-5+5)y

= Tar

O|BEZ =17, b=0 o]T}.
La+b=74+0="7

=3z — 5y —

17. 3% x 32 = 729 ©]11 22 x 43

+8=2d W z+y

e patolt, [ 4, 52 ]
@7 @ 8 @9 @ 10 ® 11
32 =36 =4,

22+6-3 — 9y 4 =5

) () < () -
2gr:y : 4:10 Y 233 Y =
—623y*d o, a + b2 - FStoiet.

M 4, 5
Ch "
| — Y

>
>

0
|I-':'-
ot

(F4]) = %wzy? = 196 224y X (—g) ayb
= _Ga2203y2-2+b
= —6z3y*

a=1,0b=4 a+b=5

19. 2 3,2 2
<%xy2Z) x 4x3y - (_wy Z) = az’y’z °IlA a -

b2+;c94 7res

® -5 @ -7

@ —13 ® -15

B *
— 23 lyA42-2,2-1
= —xiytz

a=—-1,b=4,c=14

3
,‘,a—62+§c=—1—16+6:—11




20. 2a — [2b — {a — (a + 3b) + 2b}] —

@ 2a+3b @ 3a—3b

@a—?)b

® 5a—1b

2a — [2b— {a — (a +3b) + 2b}] —a
=2a—{2b—(-b)} —a
=2a—3b—a=a—3b

21. 52 — 2[4y + = — 3{z — 23z +y) + y}] & 3| o}
H? [BHH 4, 5% ]
D)—27x — 14y @ —12z — 5y
® 4z — 11y @ 122 + 10y
® 20x + Ty

5z — 2[4y +x —3{z —2(3z + y) + y}]

=bz—2{dy+x—3(x — 6z — 2y +y)}
=5z — 2 (4y +  — 3z + 18z + 6y — 3y)
= bz — 8y — 2z + 6z — 362 — 12y + 6y

= 27z — 14y

23.

A2\
_ 2 g, ade] 3Eom Sorhe &
a® bt a
£ otofef R
> E:
> NE: 5
A2\ w3
PYNTS ]
i)9—3A = -6, A=5
i)3A-12=3, A=5
A=xz02z+1), B=(82%+22% —6z) + (—2z), C =
(22y?)% + (22°y°)? °Ith. A~ 2B — {A+ (B+O)}]

€ s stde W 4 o At APl d=
&l

ZatH9 i 5, T/

@

@ 11 ® 12

A=2224+2 , B= 42> —z2+3,C =22
A—[2B—{A+ (B+0O)}]

=2A-B+C

=2(222 + 1) — (—42? — x + 3) + 222
= 42? 4 2z + 4x° + x — 3 + 22
=10z2 + 3z -3

. 10+3+(=3)=10




2
__b)
“73

™ 0
— —
o
—~lean ™ X
~_— — o 4_9m_u
R
o I <o |
e 7 |
\la/ | —~ o
.M —i s X
e — P It
~—— I I ([
L f ol o
7AO [a\} __ N .AO [ap]
Xjo ! = = Mo _
o~ _ e
o) s © ﬂ (IS @
~ 3
N e - — e K2
o OE | — = 0
o Q\ %) - |
| @ S (Sl Kae) @
= > +
3 — _ © _a
. _ e — o
T _ L S b _
o fa\] o -
el X
I — . 3 ol
— | % 0 o)
| o — S = — |
— 3 | Il Il
| ® ! ! ) ®
Q Il | R
Il © | = « o
©l o — + y I M/_L |
+ = 9 3
) @ B N @
<t 0
[a\} o




